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Pudorysna plocha - nova HDS

Pudorys 1.PP stavajici stav




] ] 1
S201 $202 :
/r S204 % S205 S206 S207 S208 5209
/o
i ; [
5201a //L Il 7\7 S203 - o ) | ‘ ‘ ‘ EI?
- |
H o % % i s s
— i L 4 (et
{ | I | L L
| ]
/ S211 k’ | S210
| | | | | \77:1 | | | ]
| | |
] L —— 1 —— T |:*—F\ i —
- AN I\ |s220] | |/ 1 Il | N\ N AN _ ] 828 ’_ﬂ
g 1) s216 ,\‘K, —A-- —~1 s227 | -
_ 1l ‘ - : | t % $229
. L/ L )/
=1 - b7
$213 _ [ S217 S218 S219 S222 S224 S225 S226 $230
S $221 —
32147 ‘ |
S215
= ] . L == [

Pudorysna plocha - nova HDS

Pudorys 2.NP stavajici stav




	1: 1.PP
	2: 2.NP

